4 5 6 1 8
1
REFERENCE SPECIFICATIONS
A PHYSICAL CHARACTERISTICS A
N— N——
- INSULATOR MATERIAL: THERMOSET UL94VO
-CONTACT MATERIAL:  BRASS Shell size: EABCD
(see sheet 3)
_| -ACCESSORIES: STEEL FOR METAL BRACKETS See note RoHS |
THERMOPLASTIC UL94V0O FOR PLASTIC BRACKETS
BRASS FOR OTHERS ACCESSORIES Fronf((;ceceezzzre); ge)flnlhon Obligatory for HES08
-SHELLS: STEEL .
B Blank :without accessory B
ELECTRICAL CHARACTERISTICS L ithreaded insert M3
_NOMINAL CURRENT: 7.5 0 :threaded insert UNC 4-40
~CONTACT RESISTANCE:  <1.3 m Ohms v ifemale screw UNC 4-40
— "CONTACT/CONTACT :  >:1000 v Layout of contacts (see sheet 3) - —
-CONTACT/GROUND : >21200 V 9,15,25,37,50
- INSULATION RESISTANCE: >=5000 MOhms Contacts
P :Pin
C ENVIRONMENTAL CHARACTERISTICS Termination type C
- CLIMATIC CATEGORY: 55/155/56 5 Right angle/Europe standard
TEMPERATURE RANGE -55°C TO +155°C )
Plating
DAMP HEAT STEADY STATE 56 DAYS 00 Right angle 500 matings/unmatings -
SALT SPRAY 48 HOURS 43 Right angle 500 matings/unmatings
MECHANICAL CHARACTERISTICS for harsh environment
RETENTION AGAINST TORQUE: -Threaded insert:0.7 N.m min PCB accessories definition(see sheet 2)
D . D
-Female screw:0.5 N.m min Blank :Plastic brackets
c ‘Without brackets
M :Metal brackets
NOTE RoHS INFORMATION
- The "LF" products meei european union Directives and other country
requlations as described in GS-22-008. £
£ - The housing will whistand exposure to 260°C peak temperature for
a 3.5 seconds in a wave solder application with o |.6mm minimum thick —
@' circuit board. See application notes/procedures if they are available.
[ T - Termination plating spec:
_ - Signal contacts: Gold over Nickel |
S - Active area plating spec:
%__ - Signd| contacts: Gold over nickel surface - tolerance std |projection
= - Shell plating :Zn Cr3, white or transparent color 25 WAY FOR EXAMPLE www. fciconnect. com |150 1302 \/ 150 s 150101} gy mm
K3 - Accessories: Zn Cr3, white or transparent color > TW PESSON TT710705 JZLUELR::CES UMESSOWTWQSE SP[:;‘? 0 IR
F - Packaging spec: See GS-14-920 e T MdP'E m:jz‘ms Eng | 11/10/05 | P LEGARE LINEAR | ooxx 00 A2 20 F
e Iee r P Kl v [z 0. XXX +0.05 ECN LS07-0235
B B N - Appr Product family -|Spec ref
a e ° Rev
Fc = SUB MALE DM HES508 series |°  (|.g637-17)2
ﬁ ~ with right angle contact S B
catalog no - CUSTOMER [sheet 1 of 9
2 4 5 | 6 7 | 8
PDM: Rev:B sTatus:Released  Printed: Dec 07, 2009



? 3 4 5 6 1 8
3 3
A 3 = A
S |
1 | 1 |
| T
B ! | B
| 3 |
— 3. 10£0.1 - } B3.1040.1 —
FRONT ACCESSORY L insert M3 female screw UNC 4.40 Blank Without L insert M3 v female screw UNC 4.40
Blank Wi thout O insert UNC 4.40 v O insert UNC 4.40
c PCB ACCESSORIES C  without C  Without C Without M Metal bracket M Metal bracket M Metal bracket c
D o D
¥3 ]
g
_| N N |
=
N | N
il | E
E
. L insert M3
m FRONT ACCESSORY Blank Without O insert UNC 440 V female screw UNC 4.40
W PCB ACCESSORIES Blank Plastic bracket Blank Plastic bracket Blank Plastic bracket
= surface - tolerance std |projection
? e t. 150 1302 \/ 150 406 15O 1101 mm
g " creemnec con TOLERANCES UNLESS OTHERWISE SPECIFIED @5 -—
4 Dr |M PESSON 11/10/05 0.x +0.3 size Scale
F Eng | 11/10/05 P LEGARE NGULARL | Near [ oo 0.1 A2 2:1 F
chr v [z 0. XXX | +0.05 ECN LS07-0235
Appr Product family -|Spec ref
- ° Rev
SCALE: 4 F-c)‘ Z SUB  MALE DM HES508 series S C0I-8637-1712
) \d “ with right angle contact ° B
catalog no - CUSTOMER [sheet 2 of 9
2 3 4 5 | 6 | 8

PDM: Rev:B

status:Released

Printed: Dec 07, 2009




2 3 4 6 1 8
A
I FRONT PCB H FRONT PCB
shell size Contact number
PART NUMBER |  accEssory ACCESSORY P . PART NUMBER |  sccessory ACCESSORY
D#MxxP500CNLF without without DsMxxP543CLF without without
D*MLxxP500CNLF | insert M3 without t 09 D#MLxxP543CLF insert M3 without
B D*MOxxP500CNLF | insert UNC 4.40 without A |5 D#MOxxP543CLF | insert UNC 4.40 without
D*MVxxP500CNLF | female screw UNC 4.40 | without B 25 D#MVxxP543CLF female screw UNC 4.40 | without
D*MxxP500MNLF without Metal bracket C 37 D#MxxP543MLF without Metal bracket
D*MLxxP500MNLF [ insert M3 Metal bracket DML xxP543MLF insert M3 Metal bracket
7] D*MOxxP500MNLF | insert UNC 4.40 Metal bracket D 50 D+MOxxP543MLF insert UNC 4.40 Metal bracket
D«MVxxP500MNLF | female screw UNC 4.40 | Metal bracket DeMVxxP543MLF female screw UNC 4.40 | Metal bracket
D«MxxP500NLF without Plastic bracket DeMxxP543LF without Plastic bracket
¢ DML xxP500NLF inserti M3 Plastic bracket DeMLxxP543LF insert M3 Plastic bracket
D*«MOxxP500NLF insert UNC 4.40 Plastic bracket D#MOxxP543LF insert UNC 4.40 Plastic bracket
D*«MVxxP500NLF female screw UNC 4.40 Plastic bracket DsMVxxP543LF female screw UNC 4.40 Plastic bracket
D CROSS REFERENCES HES501 and FCI
; FRONT PCB
HES08 P/N FCI'P/N ACCESSORY _ ACCESSORY
HE508PxxVP6 D*MxxP500NLF without Plastic bracket
HE508Mx xVP6 D*MxxP5SO0OMNLF without Metal bravket
E
on
= surface - tolerance std |projection
? www. fciconnect.com 150 1302 \/ 150 406 1SO 1101 mm
g TOLERANCES UNLESS OTHERWISE SPECIFIED @5 -—
S br | M _PESSON 11/10/05 ouLan 0.x 505 |size Scale
F Eng | 11/10/05 P LEGARE LINEAR | o.xx 0.1 A2 2:1
chr v [z 0. XXX | +0.05 ECN LS07-0235
Appr Product family -|Spec ref
NIB 2 Rev
Fc = SUB MALE DM HES508 series |°  (|.g637-17)2
~d ~ with right angle contact S B
catalog no - CUSTOMER [sheet 3 of 9
2 3 4 6 | 8

PDM: Rev:B

status:Released

Printed: Dec 07, 2009




2 3 4 5 | 6 | 7 | 8

a
Copyright FCI. Fc
al | b— m

 meisn - DIMENSION FOR SHELL E,A,B,C WITHOUT BRACKET
TTTTTTTTTTTTTTTTTTTTTTTTT : Dimensions are in millimeters g
o R e Jumer ot |5 87 [ 125
size | contacts Ao B 0 Cio'lz F 0 G-O H'o L 0
@O SEEEEEEEEEEE )\ @ .
bOHLOOOOOO OGO, El 09 [30.43 [16.79 [24.99 |10.47] 5.9 3" [19.02|0.80
N J Y,
- — Al 15 [38.76 [25.12 33.32 |10.47| 5.9 '5"° | 27.250.80
H B| 25 |52.65 [38.84 [47.04 |10.43| 5.7 3% |41.02|0.80 ;
C| 37 [68.94 (55.30 [63.50 [10.56 | 5.7 '5°%° |57.45]0.90
—
3 !!Il e c
_ » . b
| 43 [ L 3
I | BiRE
I | E ]
e =
A —_—
5405 D
¢ LAYOUT DIMENSIONS
B0.9mini
2 B min 76 shell 25-37] 1.38 shell 25-37
é? ; 2.74 shell 03-15 .37 shell 09-15] [
w 2 .
2 2 76 shell 25-37 i o
o~ : s : oY% 0 boolooooofo @_
_ 2. 14 shell 09-19] < J- 60000 O (If 600060 :
_ [} 4 N\
= (000000 eeeeee"l' £0.10 7" |
P essossiossons, ) P 23. |
f \ : ¢
\ ! Y, I
T
e e cicomectcon [ ]l MM
¢300 -0 Dr |M PESSON 11/10/05 NGULAR 0.X +0.3 size Scale
[-38 shell 25-37] i:g 11/10/05 P LEGARE e LINEAR :.Xxxxx :own‘s ECNAZ LSDYZi‘ONS F
Appr Product family _ -|Spec ref -
SCALE:3 FC} |- SUB MALE DM HESO8 series |2 cqjge3r-i7ip | o
- Wl ri an e contac 5 B
J cam:ghm S - - CUSTOMER [sheet 4 of 9
2 3 | 4 5 | 6 | | 8

PDM: Rev:B status:Released  Printed: Dec 07, 2009



2 3 4 5 6 | 7 | 8
DIMENSTON FOR SHELL E,A,B,C WITH METAL BRACKET
A 20.63 +0.05 ) ) . - A
—= Dimensions are in millimeters
ApnaRnRRARAREARAAAAARAAAA Shell |Number of [ '076 g *0.25 1057 10.25 051022
I | 5 S0 0 e e five [cantacts [A 70 |Bo T CaezgF o Grom | Ho L
a1 1 18 B 1 —
n 30.43 [16.79 [24.99 1902 B
* @ﬂ@ﬂ@ﬂ@ﬂ@ﬂ@@l@ﬂ@ﬂ@ﬂ@ﬂ@ﬂ + E| 09 10.47 5.9:'5 0.80
[CRONCORONONE URUNONORONC A | 5 38.76 |25.12 |33.32 |10.47 | 5.9 - 21.25(0.80
. =k : d =0 B| 25 |[52.65 [38.84 |47.04 |10.43| 5.7 3% | 41.020.80 .
H C| 37 [68.94 (55.30 [63.50 [10.56 | 5.7 ‘5% |57.45]0.90
1.2 400
3 | n
i li ) L
¢ = - 1] | A ¢
= | [ =/ Z
~ ! B nINE
T i | 3 —
= A =
= 4 105
D D
c LAYOUT DIMENSIONS
#0.9mini
2 B 76 shell 25-37] 1.38 shell 25-37
-1 oo > 7 7dshell 09-15 (37 sheil 09-15)
© & N
. 2 76 shell 25-37 E
B ; %
= = 7 T4 shell 09-15 : - ooo OOOOOOOO!OOOOOOOOOOOO -@—
= : 7T L ? E
7. N i
. O & OO O OO Do " £0.10
‘.?) QP sseieeloslgoos, @ L2 M .
R i 1 I
== T
fz, ORORORORCRORORORORONORORCRORORa OROROROROROR0 o . surface ,\/ tolerance std |projection mm
i wwtereomnect com ‘:sLE‘;:iCES UNLESS OTL:;W‘\OSEE SP‘[SCU\ F‘\‘EOI)‘ @5 -—
S Dr |M PESSON 11/10/05 NGULAR 0.X +0.3 size Scale
F [-38 shell 25-37] Eng | 11/10/05 P LEGARE LINEAR | o.xx 0.1 A2 2:1 F
chr v [z 0. XXX | +0.05 ECN LS07-0235
Appr Product family _ -|Spec ref -
SCALE:3 FC} |- SUB MALE DM HESO8 series |2 cqjge3r-i7ip | o
- Wl ri an e contac 5 B
J cam:ghm S - - CUSTOMER [sheet 5 of 9
2 3 | 4 5 6 | | 8

PDM: Rev:B

status:Released

Printed: Dec 07, 2009




a
Copyright FCI. Fc
al | b— m

DIMENSION FOR SHELL E,A,B,C WITH PLASTIC BRACKET
20,63 40.05 2 A
‘.::’ Dimensions are in millimeters
= Shell |Number of *0.76 *0.25 +0.57 +0.25 +0.51 |, +0.22
- size | contacts Ao B 0 Cio'lz F 0 G 0 H'o L 0
E| 09 [30.43 [16.79 [24.99 |10.47| 5.9 '3'°|19.02]0.80 B
Al 15 [38.76 [25.12 33.32 |10.47] 5.9 '5"° | 27.250.80
B| 25 |[52.65 [38.84 [47.04 |10.43| 5.7 3% | 41.02[0.80 ;
C| 37 [68.94 [55.30 [63.50 |10.56 | 5.7 's:2°|57.45]0.90
1.2 0.1
A3 | ;
w2 - [ ] H c
- = 3 i >
L Dl
|| :T-I |
M >
@ =
A 4405
c LAYOUT D IMENSIONS ’
B0.9mini
QD B E 76 sheTT 75-37] .38 shell 25-37
o9 > 7 7dshell 09-15 (37 sheil 09-15)
© ] N
"j 2.76 shell 25-37 ‘?3 :> O\)OOOO'OOOOOO @_
7 T4 shell 09-15] = ) 600000 (If 6000bdo i
71— S
€ A |
L ) L *@'} +0.10
\‘eeQeQeleeeaeae@y\y 23. 1
L | — 2 ¢ B
LML
www. fciconnect.com 150 1302 \/ 150 406 15O 1101 @5 mm
[ 38 shell 25-37] ED:’? Tﬁijg! ;‘[ég//xgé ONG‘u::R LINEAR :O,Xx}x E}zi WCECNAZ Lsz;i;s F
Appr Product family -|Spec ref -
% |2 SUB MALE DM HES508 series |° o
- > CO1-8637-1712
F\_QJJ :u:\‘:ghn:‘g“ S - 2 CUSTOMER [sheet 6 of sB
2 | 3 | ] 5 | 6 | | 8

PDM: Rev:B status:Released  Printed: Dec 07, 2009



3 5 6 7 8
0.6340.05
) LAYOUT DIMENSIONS A
rnnaafRANA
IEERRRRIRRRE 38
= HAHAHARRARH E 3 B0 9 min: 16 -
' N I
| OpPIpIaPlIdpll 2 = -
@ i AUN I AT A (L AN ATN AT I A [EATN AT I A P A e AT T A B AR B AR | A 1) A T : OO\)OOOOO OOJ)J)OOOO
~ o 0O 000000000000 O0O0O0 @
\_ f s 0 00 00O0O0O0 0O 000O0O0O0O0
N1
5 I:l:O.ID / B
55 07:)0 d : B
66.55 97 -
o~ I | ----- ¢
g3 Ll | 3
= < . I — J =
, : 3 2 —
f f ™ | !
| C %
| 1 -
2 z = D
T 2| E 209
g 52.68 0% 2| =
% /'$$$$$$$$JL$$$$$®$$"
E = @ 0000000000000 o 0ty E
m = eeaeaeaeaeaeeeaeaeeeeaeaeaj
rd UUUUUUUUUUUUUUU U UUUUUUUUUUUUUU SHELL SIZE D WITHOUT BRACKET(50 CONTACTS)
oo [ TSGR
N F 2.16 EDn’g A‘A‘:Ei?gg ;‘[ég//xgé NGULARL | AR uo.xxx 2? o A2 5‘2?\‘6 F
chr v [z 0. XXX | +0.05 ECN LS07-0235
Appr Product family -|Spec ref
Fc' 2 SUB  MALE DM HES508 series m cor-8631-1712 |
J:u:\‘:ghn:‘g“ S B CUSTOMER [sheet 7 of sB
3 6 | | 8

PDM: Rev:B

status:Released

Printed: Dec 07, 2009



6 7 8
.. 0.6340.05
A ) LAYOUT DIMENSIONS A
0a0naannnnnartAARARARRRAANANANN
A HHHHHHHHHHHEE A HHHHHHHHHAHHH <= E 3 B0. 9 mins 775 8
- Iﬂlﬂlﬂlﬂlﬂlﬂlﬂlﬂlﬂlﬂlﬂlﬂlﬂlﬂlﬂlﬂl 3 y o —
0 b P 1 i Pl b P e o b l e Pl b e = ; ooboooo0o0 o00ddooido
o (AR o) SRR QRS
N | = O O 0O OO0 O0OO0Oo OO0 O0OO0OO0OO0OO0OOo
— I |
B 53  £0-10 / B
55.07,"" ' BT 11
. 66.55 97 -
6.00:‘:“
! !
C I C
Y o 1o Al 7 I
AR L2 Ll 13
2 4 La] | Loz, IiNameE i
: ! S :
D H | I ‘: D
- ?; g 4405
6l 11" S| S
| 2. 52.68 0 .00, i
= . B
i 2 eaeaeeeeeeégeaeeeeeae@"\ E
m 4:: @&$$$$$$$e|$$$$$$$$” //@
w | = MR ) B RS/ _ SHELL SIZE D WITH METAL BRACKET(50 CONTACTS) -
S / *®
zg U U UUUUUUUUUUUUUU www. fciconnect.com o 7\/|T:‘ (\:oswrad\ pé:g}" ‘m
¢ F |.38 EDn’g A‘A‘:Ei?gg ;‘[ég//xgé NGULARL | iNear [ omr - A2 5‘2?\‘6 F
AL A}-cj 2 SUB  MALE DM HES508 seyrles : gmpf;e;_,m
ﬁ:u:\‘:ghn:‘g“ S B CUSTOMER |me¢sofsB
2 3 | 4 5 | 6 | 8

PDM: Rev:B

status:Released

Printed: Dec 07, 2009




5 6 1 8
0.63410.09
A LAYOUT DIMENSIONS A
E = 809 min, 775 38
!ML!MD!ﬂ!ﬂ!ﬂ!ﬁb!ﬂ!ﬂ!ﬂ!ﬂ!ﬂ!ﬂ!ﬂ!ﬂ! , cob%ooooosooddoodlo
@l | [CSlEcIslEdIGeIE e8] | @) o ooooooooooo000s (b
1] 1] 1] 1] 1] 1] 1] U 1] 1] 1] U 1] 1] 1] U O O O O O O O O o O O O O O O O
1
B R A= £0.10 B
23. 1 /
55.07 " 1. 11
] 66.55 '™ B
4 N\ ]
‘ é I é} — ‘
R O O O A0 OO0 (T L _
2 = | iy 1| 2 i [ 4 3
e < ] [ 1] = —— i —
= I = 2 I o~
i w> +H .
= | - || ’ 3
D H LI e D
o 3 L =2
b1, 11 %" = ‘ 4.0405
o 52.68 "% 8.6 0.1
j /4 N\ f £
E -3
3 /'eeeeaeeeeégeeeaeaeeaea@"\/ff\\
a ~ " PN
oY - @\HHBMMH’I‘*“*’‘“’“‘*’w HD SHELL SIZE D WITH PLASTIC BRACKET (50 CONTACTS)
w o eeeeaeeeeeaeaeeeeeem”/
: S — B
= = surface - tolerance std |projection
? UUUUUUUUUUUUUUU U UUUUUUUUUUUUUU www. fciconnect.com 150 1302 \/ 150 406 IS0 1101 mm
: TOLERANCES UNLESS OTHERWISE SPECIFIED @5 -—
N F .38 EDn’g A‘A‘:Ei?gg ;‘[ég//xgé NGULARL | AR uo.xxx 2? o A2 5‘2?\‘6 F
2-’6 :p"p’, ;"r\oji“” — 0. XXX +0 057 spiCN,c; LS07-0235
Fc' 2 SUB  MALE DM HES508 series m CO1-8631-1712 Rev
J m:‘w:gh":wghf S T CUSTOMER [sheet 9 of sB
2 3 | 4 5 | 6 | | 8

PDM: Rev:B status:Released

Printed: Dec 07, 2009



